
O R  2 1 3 3 2 1



- 7,456 = 7000+400+50+6. .

3 2 2 OR 213



:. 7,456 = 7~10~+4x?0~+5x10'+6x10~

= 7.000+400+50+6

= 7,456

ihfild  2 lRu~~,uauncrffJu

.3454 = .3+.04+.005+.0004

1 1 1 1
= 3x1o + 4x ii%+5xl~o+4x10.000

= 3x.1+4x.01+5x.001+4x.0001

nG-tnci ‘I ik '
-70'  =-'

n 2 " 1
102 =

.Ol

s.
3 "'

103 =
A01 \

n
4 -'

10$ =
.OOOl rih& ‘\

OR 213 3 2 3



PsiYnG 1 2 3 4 5 6

vhw&n l/IO l/102 l/103 l/IO4 l/105 l/106

~Yiln'EI .l .Ol .OOl .OOOl .00001 .000001

aa9rmCuu .3 4 5 4

3 2 4 OR 213



ehav 0 Ipam+%~  i Gil  0x20. = 0

9, 11 9,1 2 1 x2 ’ = 2

9, 11 ”1 3 1 x22 z 4

,, 1, 1’0 4 0x23 = 0

9. 9, ,,1 5 1 x24 = 1 6

:.  (10110)2 =  0+2+4+0+16  =  (22),0

OR 213 3 2 5



VYmhs~  4 (lOllO)*  = (?),()

mTn+i I 5 4 3 2 1

*, I?

1 4 " 1 x(1/24) = l/16  = .0625

,, ,f 1,1 5 1 x(1/25)

:. (.10111)2 = .5+.125+.0625+.3125  = (.71875),.

= l/32 = .03125

3 2 6
OR 213



r;l”aed,sd  7 (.101.11)2  = (?),,

m
:. (.10111)2 = .5+.125+.0625+.03125  = (.71875),.

.

OR 213
3 2 7



2” n 2-n

1 0 1 .o

2

4

8

16

32

64

128

256

512

1 024

2 048

4 096

8 192

16 384

32 768

65 536

131 072

262 144

524 288

1 048 576

2 097 152

4 194 304

8 388 608

16 777 216

33 554 432

67 108 864

134 217 728

268 435 456

536 870 912

1 073 741 824

2 147 483 648

4 294 967 296

8 589 934 592

17, 179 869 184

34\359 738 368
\

1 0.5

2 0.25

3 0.125

4 0.062

5 0.031

6 0.015

7 0.007

8 0.003

9 0.001

10 0.000

11 0.000

12 0.000

13 0.000

14 0.000

15 0.000

16 0.000

17 0.000

18 0.000

19 0.000

20 0.000

21 0.000

22 0.000

23 0.000

24 0.000

25 0.000

26 0.000

27 0.000

28 0.000

29 0.000

30 0.000

31 0.000

32 0.000

33 0.000

34 0.000

35 0.000

5

25

625

812

906

953

976

488

244

122

061

030

015

007

003

001

000

000

000

000

000

000

000

000

000

000

000

000

000

000

000

000

5

25

125

562 5

281 25

140 625

070 312

035 156

517 578

258 789

629 394

814 697

907 348

9 5 3  673

476 837

238 418

119 209

059 604

029 802

014 901

007 450

003 725

001 8 6 2

000 331

000 465

000 232

000 116

000 058

000 029

5

25

125

062

531

265

632

316

158

579

289

644

322

161

580

290

645

322

661

830

415

207

103

5

25

625

812

406

203

101

550

775

387

193

596

298

149

574

287

643

321

660

830

5

25

125

562

781

390

695

847

923

461

230

615

307

653

826

913

456

5

25

625

312

656

828

914

957

478

739

869

934

467

733

5

25

125

062

031

515

257

628

814

407

703

5

25

625

812 5

906 25

453 125

226 562 5

613 281 25

68 ?I9 476 736 36 0.000 000 000 014 551 915 228 366 851 806 640 625

@l1%14~  1 LMVWdlV~4 2" b4.R:  2-" (n=O-36)

328 OR 213



&aaav 7 IwGnt 4 ikil  7x8' = 7x512 = 3584

9, 9,4 3 0 4~8~ =  4 x 6 4 = 256

$7 9,5 2 1, 5x8' = 5 x 8 = 40

7. $76 1 9, 6x8' =6x1 = 6

:. (7456&  = 3584+256+40+6  = (3886),.

wiool~~~a~~~i~lT~~~~iuu

(7456& = 7~8~+4~8~+5~8'+6~8~

= 7x512+4x64+5x8+6X1

= 3584+256+40+6

= (3886),.

OR 213 3 2 9



Lb (A),6  = WI0 (WIJ 1 esa"n%up.4  16)

w),6 = (WI0 (LWY 2 mTnIup.4  16)

CF)16 = ('5),0 (Wll 1 Mi%-lj,aU~lU  16)

('5),6 = (2140 (Wll 2 M&l'naU~lU  16)

Decimal Binary

0 0

I 1

2 10

3 II

4 1 0 0

5 101

6 1 1 0

7 I l l

8 1000

9 lo01

IO 1 0 1 0

II 1011

I2 II00

I3 1101

14 Ill0

15 1111

I6 1ocQo

I7 10001

18 1 0 0 1 0

I9 10011

20 10100

21 10101

2 2 10110

2 3 IOIII

2 4 II000

2 5 II001

26 11010

2 7 11011

28 11100

29 11101

30 11110

31 11111

Octal Hexadecimal

0 0

1 I

2 2

3 3

4 4

5 5

6 6

7 7

I O 8

II 9

12 A

13 B

14 C

15 D

16 E

I7 F

20 IO

21 II

22 I2

2 3 I3

24 14

2 5 I5

26 16

2 7 I7

30 I8

31 I9

3 2 I A

3 3 IB(
34 IC

3 5 I D

36 IE

3 7 IF

3 3 0 OR 213



4 1,073.741,824

5 1,342,177.280

6 1,610,612,736

7 1,879,048,192

8 2.147.483.648

9 2.415,919.104

A 2.684.354.560

B 2.952.790,016
C 3.221.225.472

D 3,489.660,928

E 3.758.096.384

Hexadecimal

Positions

Ti H H H H H H

E E E E E E E

X DEC X DEC X D E C  X D E C  X DEC X DEC X DEC

0 0 0 0 0 0 0 0 0 0 0 0 0 0

I 16.777.216  I 1.048.576 1 65.536 I 4.096 I 256 1 16 I I

2 33.554.432  2 2.097,152  2 131,072 2 8,192 2 512 2 3 2 2 2

3 50.331.648  3 3.145.728  3 196.608 3 12,288 3 768 3 48 3 3

4 67.108.864  4 4.194.304  4 262,144 4 16,384 4 1.024 4 6 4 4 4

5 83,886.080  5 5,242.880  5 327.680 5 20,480  5 1,280 5 8 0 5 5

6 100,663,2%  6 6,291,456  6 393,216 6 24,576 6 1.536 6 %6 6

7 117,440,512  7 7,340,032  7 458,752 7 28,672 7 1.792 7 1 1 2 7 7

8 134.217.728  8 8.388.608 8 524.288 8 32,768 8 2.048 8 1 2 8 8 8

9 150,994,944  9 9,437,184  9 589.824 9 36,864 9 2,304 9 1 4 4 9 9

A 167.772.160  A 10.485.760  A 655,360  A 40,960 A 2,560 A 1 6 0 A 1 0

B 184,549.376  B I lJ34.336  B 720.8% B 45,056 B 2.816 B 176 B II

C 201.326.592  C 12.582.912  C 786,432 C 49,152 C 3,072 C 192 C 1 2

D 218.103,808  D 13.631.488  D 851,968 D 53,248 D 3,328 D 2 0 8  D 13

E 234.881.024  E 14.680,064  E 917.504 E 57.344 E 3.584 E 2 2 4 E 1 4

F 251,658,240  F 15,?28.640  F 983,040 F 61.440 F 3.840 F 240 F IS

7 6 5 4 3 2 I

,

I

O R  2 1 3 3 3 1



3 3 2 OR 213



:. (3886),.  = (7 4 5 6)*

16)155 LB193  6

16& LFlPt  11 = B

k

p LBT¶+  9
1

:. (2486),. = (9 B 6),6

OR 213 3 3 3



n”aehi 1 5  (10111110000)~  = (?),

02 12 yolo (m$hqabiu 0 Iikmm+a: 3 Gabay)

2 76 0

:. (10111110000)2  = (2760&

3 3 4 OR 213



,

OR 213 3 3 5



m"aed1.4 16 (1110011100110)* = (?),6

0001110011100110-w---c (f+.&er~aaGa, 0 Kwm$.Ja-, 4 h’abau)

1 C E 6 (mnmmd  5)

5
M%! -

4 6
1 0 1 i-2 ilo‘

:. (546),  = (101100110)2

Fl~XlQBLl  (546& = (358),.

(101100110)2 =-(358),.

3 3 6 OR 213



:. (8A9),,s  = (100010101001)2~

Bl3aWlQPl  (8A9),6 = (2217h

(10001'0101001)2  = 1(2217),,.

iYaw.hk  19 (271~0)~  = (?),6  l

2 7 6 0
C-h-
010 111 110 000--4- (mw1319~ 4 )

:. (2760)* = (010111110000)2  = (5FO),,

BlX4MlQ9J  (2760& = (1520),.

(5FOh  = (!520),o

w”aQh~  2 0  (8A9),6  =  (?)*

8 A 9
- - -
1000 1010 1001
--Ye

(mR7319~  5)

4 2  5 1 (97nm5wi 4)

:. (8A9),6  = (100010101001)2  = (4251&

w3aomnJ (8A9), 6 = (2217),.

(4251& = (2217),.

O R  2 1 3 3 3 7



n"aOdl9~ 21 (.6875),, = (?),

.6875

X
2

1 .375
X

2

I 1  .O

0 .750
X

2

1 .5
X

2

.

. . (.6875),0 = (.1011)2

n"aehaii 22 (o.7),o
= (?), .7

X

2

1 .4-
X

2

0 .8
X

2

1 .6
X

2

1 .2
X

2

0 .4 -

(.375x2 = 0.75)

(.75x2 = 1.5)

OR 213



LWFWl0UdlHDU

(10011)* = (19),()

(llloo1)2  = (57),.

(‘9),,+(57),0  = (76),,,  = (1001100)2

fiou uXa&xi 7 uanruiwi&u

n”adNi  24 (110.1101),+(11.0111),  = ?

a,  A:
111 ill- wwiwnvtnnwwnk
110.1101

+
11.0111

1010.0100

:. (llo.1101)2+(ll.o111)2 = (1010.0.1)2

O R  2 1 3 3 3 9



(110.1101)2 = (6.6125),0

(11.0111)2 = (3.4375),0

(6.8125),0+(3.4375),0  = (10.2&,  = (1010.01)2

fh.h4~  26
5+7+1  = 13

:. (7556),+(573),  = (10351)*

oijt)r.il4i:  26 (9F9’J),6  +fc1g),6=  ?

= B

:. (9F98)16+(C19),6  = (ABBI),,

3 4 0 OR 213



0010011

:. (1001100)2  - (111001)2  = (10c~ll)2

lWXl~~~~l~0¶J

(1001100)2  = (76),.

.

(11J001),  = (57),.

76 - 57 = 19 = (10011)2

&edls~ 20 (103!j1)8  - (646)8 = ?

OR 213 3 4 1



1011

1011 t

1011 1

1001101

:. (1011),x(111),  = (1001101)*

“&cl  (ll),Ox(7),O  = (77),0  = (1001101)2

3 4 2 OR 213



1011
+

1011

110111

:. (1011~)2x(101)2  = (110111)2

w3a (11),ox(5),o  = (55),0  = (110111)2

thd& 32  (3501),x(25),  =  ?

5x5 = 25 5x3 = 15

15+3(WGl)  = 18

8)18

1202 &wl¶+ 2

114125
-

:. (35O1)8~~(25)8  = (114125)*

n"aSFhS~ 3 3  (9B6),sx(A2),,  =  ?

9B6 Bx2 = 11x2 = 22
X

A2 16)22

136C 1 bB(l+  6

:. (9B6),,x(A2),6 = (6252C),6  -L-l

6 1 1 C A x 6  =  1 0 x 6  =  6 0

6252C
16b

7.
2 h@lN12=C

OR 213 3 4 3



Lhlei1si 35 (1011.101)2  + (l.l)*  = ?

(1011.101)2  f (1.1)2  ol~a5eJu9&34  (10111.01)*+  (11)2

111.11

11)10111.01

11-

101

11

101

1 1-

100

11-

11

3 4 4 O R  2 1 3

3

:. (1011.101)*+  (l-l&  = (lll.ll)*



&SFhd”  313  (17360)8+(12)8  = ?

cpmpa&  (12)N

12x1 = 12

1430
12J17360

1 2 x 2 = 24 - 12

1 2 x 3 53= 36

1 2 x 4 = 50 - 50

1 2 x 5 62 36=

1 2 x 6 = 74 36
=

1 2 x 7 = 106 :. (17360)8+(12)8  = (1430&

iiaeei144  37 (6252C),6~(A2),6  = ?

~‘Gl~~tUkl%i  (,42)Is

A2x2  = 144

A2x6 = 3CC

A2x7  = 46E

A2x8 = SIC1

A2x9 = 5B:’

A2xA  =  6 5 4

A2xB  = 6F6

A2xC  = 7 9 X

A2xF  = 97E MT0  (402732),0-(162)io  = (2486)lo

9B6
A2)6252C

5B2

732

6F6-

3 c c

3 c cz=z=L

:. (625%C),,+(A2),,  = (9B6),6

OR 213



89p41  10’5 complem&t  bba:  9’s complement “UOJ  34974

B = 10, n = 5, T = 34974

IO’s complement llO9 34974 $0 105-34974-100000-34974 = 65026

9's ccmplement  llFl9 34974 ZO 65026-I = 65025

p/g:0  (I&I)-34974  =  99999-34974

bMmTuq1Pd  2

n”aeei1si  3 9 99Hl 2’s complement YO9  (10011010)~

1, = 8, 2* = (100000000)2

100000000
-

10011010

1100110

.*.  2’s complement “u09 (10011010)2  i?O  (1100110)2

3 4 6 OR 213



n”asfhs~  40 39Wl l's conlplcmerlt  "1109  (10011010)2

I, = 8. $1 z (!1111111)2

11111111

10011010



4721

:. (8261),o-(3540),,  =(472&

Z 2 IEb”wanChoaawTadxmu

1. 9’s  complement lIEI9  3540 ?l8 9999-3540 = 6459

2. Plafi 6459 L’h%J&&  %I 8261

8261
+

6459
*

T4720

\
+

3. 1

4721
-

:. (8261),o-(3540)lo  = (4721)10

*
tWlfJ6o-Pg 1 ?lO  most significant digit

*
0 %I  last significant digit

(Xaml)

3 4 8 OR 213



1. 9’s complement ?JloJ&JHJ  (lIEI  8261) kl  1738

2 . 3 5 4 0
+

1738

OR 213 349



n"aehs~ 44 (110101),-(101011),  = ?

a4d
awl  1 ZhJLWJ8~3Wll

1) l’s complement llO9 101011 ;a 010100

2) 110101

G,OIGGT--_
>!< *,,I  001001 (C6a'awm)

3 ) '\I

IGIG=

:. j110101)2--(101011)*  = (1olo)2

n"aed,sd 45 (loo),-(IOIO):,  = ?

1) 99’1 I’s complement lIEI 1010 m”O  0101

2) 0100
+

2  ?  i) ‘I

350 OR 213



n”aad1si  4 6  (lolo)~-(loo)2  =  ?

1) WI I’s,  complement “UOJ  0100 FIO  1011

2) 1010
+

1 0 1 1
*
10101

3) L 1

(G@l’aawm)
+

0110

:. (1010)2-(100)2 =(113:%

WHl~WhlWJ bo10)2-(100)~~  61  (10),0-(4),0  = (6),0

(6),0  = (110)2

O R  2 1 3 3 5 1



A P PAP

Gll'21991 6 %“LW 4-¶JwV3@’  (4-bit BCD system)

. . 175 ~uxlJG%i~o  000101110101.

'HU1tJtP-P~ IPaSZUsi  Pure binary representation

(175),. = (10101111)2

3 5 2



ChXXlWS 4-b,  BCD
wee) cd21

0 mml
1 WOl
2 WI0
3 WI1
4 0100
5 0101
6 0110
7 0111
6 IWO
9 IWI

A
El
C
D
E
F
G
Ii
I
J
K
L
M
N
0
P
0
R
s
T
U
v
W
X
Y
z
+

WlOlO
WmQl
WmlO
WWII
oooiw
m101
CCQIIO
omlll
Wlcm
WlWl

l1Oml
110010
llW11
110100
110i01
110110
110111
1llWQ
IllWl
1m1
1m10
IccQll
IWIW
1W101
IWIIO
lW111
IOIWO
101W1
OlWlO
OIWII
OlOlW
010101
010110
010111
011Ool
OllWl
OlWa
1OOOOO
011011
111011

ASCII-7
CBA&w

Ollww
011ccQ1
OllWlO
0110011
01101w
0110101
01101:0
0110111
0111cwJ
OIllWl

lmxol
1@xo10
lOWa
IOWIW
1cQ3101
1Mx)llO
IOWlll
IWloM)
IWlWl
1cO1010
1w-1011
IWIIW
1001101
1001110
1001111
101ccm
101coJ1
101w10
101Wll
1010100
1010101
1010110
1010111
1011Om
1011001
1011010
0101011
1011111
0101100
0101110

EBCDIC
8421B421

1111c!wl
llllOWl
11110010
1111w11
111101w
11110101
11110110
11110111
11111Wa
lllllWl

11W@lc1
11Wm10
11Wm!l
11cm100
11WO101
11ccO110
11WO111
IIWIOW
11w1001
1101cco1
11010010
1101w11
11010100
11010101
11010110
11010111
11011ca
11011w1
111wo10
111co311
11100100
11100101
11100110
11100111
111OlOW
11101001
01001110
01101101
01101011
01w101i

OR 213 3 5 3



3 5 4 OR 213



ZONE
P O R T I O N

D I G I T
PORnoN

C

f

BIT NUMBER

P O S I T I O N A L V A L U E

BIT NLIMBE  R

P O S I T I O N A L  V A L U E



ASCII
Character Decimal Binary octal Hexadecimal

A 2 01000001 101

:

:; 69

01000010 01000011 102 103

F 01000101 01000100 104 105
i :: 01000110 01000111 107 106

Y 72 73 01001000 01001001 110 111
J 74 01001010 112
K 75 01001011 113
ii4 77 76 01001101 01001100 115 114

t :i 01001110 01001111 116 117

Fi ir: 01010000 01010001 120 121
s" :5 01010010 01010011 123 122

T 01010100 124
u

:"5
01010101 125

EBCDIC
Decimal Binary Octal Hexadecimal

193
194
195
196
197
198
199
200
201
209
210
211
212
213
214
215
216
217
226
227
228

11000001 301 Cl
11000010 302 C2
11000011 303 c3
11000100 304 c4
11000101 305 c5
11000110 306 C6
11000111 307 c7
11001000 310 C8
11001001 311 c9
11010001 321 Dl
11010010 322 D2
11010011 323 D3
11010100 324 D4
11010101 325 D5
11010110 326 D6
11610111 327 07
11011000 330 D8
11011001 331 D9
11100010 342 E2
11100011 343 E3
11100100 344 E4
11100101 345 E5229

230 11100110 346 E6
231 11100111 347 E7,
232 11101000 350 E8
233 11101001 351 E9

3 5 6 OR 213



9in~~bb9Js39sa~~iPa,auanaHloa  2 ------G 16 : 01011010c-r--.--

5 A

6ai?nW-i  Z tUXU7J EBCDIC &I  11101001

(11101001)2 = (233),. =: (351& = (E9),,

8inPa~bL~RSLO~~iebaPb'[Pb~ll  2- 8 : 011101001V-H-Y

3 5.1

E 9

OR 213 3 5 7



3 5 8 OR 213



OR 213 359



3 6 0
OR 213



1. (11101000111)2  = (?),,

2. (15747)*  = (?),.

3. (lBE7),, = (?),. -

4. WE5),,  = (3,"

i. (6C4E5),,  = (?),. ~16~7u’b~~~~151~~~~~~~~~~~~~~~~~~~~~~~~~~1~1~

6. WL¶.&l4  (327),. a"!? HI WVIJ~IU 2 WII~IU  8 L~WbWl~lU  16

7. Wdkl~  (lBE7),,  %LhWJ~lU 2 LLXLVll~lU  8 (k?%ll3Ld~U~L8VIr_o7pa 16 ht

Lh&~~lPa  2 &~n'a14  aasJ"a89a~BeJu~lna~~~l~~~l~~~~~~~~~~l~  8)

8. 'TW..klU  (15747& ~Ps"a%Wll~lU  2 LLR%W~lU'l6

9 .  (64E5),,  ==  (?),

10. (6C4E5),,  = (?),

1 1 .  (64E5),,  =: (?),

12. (6C4E5),6  = (?), .

13. (looo10101001)2  = (?),c

14. (37456& := (?),

15. (112234& = (?),

1. (10110111)2+(10010101)2  ; ?

2. (110100011)*+(1111001)*  =  ?

3. (111110001)2+(11101111)*  =  ?

4. (567231)8+(3572)8  =  ?

5. (761&+(365),  = ?

6. (643710)8+(4567)8-(321567)8  = ?

7. (72EA),6+(B46A),6  =  ?

8 .  (A345C),,  - ( A B C ) , ,  = ?

OR 213



9. (4096),,  +(B12),,  -(802),, = ?

10. sdduuaau~7u  8 w"s  2 +mata~uik  5. ahao~pt~~  aafhanfk  ad$upaunuana3u

aovp  8 a~erE1~l~oPrn"E1~l~o~~~~~~  5.

al¶JlJ?J"Gh~nii  3
PI

Tl9ilU9slaMlNEI&G@iO$¶JG  wow%~~a~saREla~~inisvas  complement LlhiafJ

1. (1110)*+(111)2  =  ?

2. (111001)2+(1001)2+(111)*  =  ?

3. (1101)2-(1010)*  =  ?

4. (10101)2-(101)*  =  ?

5. (10000),-(lOI),  =  ?

6. (Illool),x(lll)2-(looo)2  =  ?

3 6 2 OR 213



1. (11101000111)2  = (?)
10

%4rilvaswa"n~aPa~~lpa  2

IGnG 11

BE

diwxmk 1021

aal&uau 1

:. (11101000111)2 = 1024. + 512 + 256 + 64 + 4 + 2 + 1

= (1863)10

2. (15747) =8 (?i10

(157471 = 1x8“+  5~8~+  7~8~+4x8'+  7x8'8

= 4096 + 2560 + 448 + 32 + 7

= (714.3) 10

3. (lBE7) =
16

I?)
10

(lBE7) = 1x11? + Bx16'+  E + 16'+ 7x16'16

= lxdf 11x16*+  14x16 + 7x1

= 409El + 2816 -t 224 + 7

4. (64E5) 15

(64E5),6

= (7143)10

= i?l10

= 6xW?+ 4x16'+  Ex16'+ 5x16'

= 6x4096 + 4x256 + 14x16 + 5x1

= 24576ilO24i-224t5

= 6x65536 f 12x4096 + 4x256 -t :A.::5  -'- 5

= 393216 + 49152 + Id24 + 224 -t 5

= 1443621),.



%i 2 (lhm~ 2)

Hex.digit 6 lorM~?ld

" c "

I, 4 **

I, E r,

,, 5 I,

5 %I 393216

4 I, 49152
+

3 I, 1024

2 ,, 224

1 ,, 5

44362 1

3 6 4 OR 213



M%lPlfl 6.1 (327),. = (10~000111)~

101000'11-1 (%Gmm9+l  1)
--'T-

5 0 7

: (327) = (507)IO 8

6.3 d&W (327),.  b%hWIl~l~ 16

161327

1612q  bFlP3  7

1611_ bff'i3  4

g Lmh 1

=. (327) (147),&10

H%9lll 6.1 (327),.  = (10100011  I)2

00010100011-v-
(Km9~ 1)

14 7

a. ~~a~&.&  (15747)8b3ULR"U~1~  2 MXWlI~lU 16

(15747j8 = (1101111100111)2
(%%al~l9d  1)

(1,1011,1110,0111)2 = (lBE7) 16
('bh~ld  1)

(15747j8 = (lBE7) 16

9. (64E5)  = (?I2
16

(64E53,6 = (110,0100,11  10,0101)2 (1%131~~  1)

OR 213 365



IO. (6C4E5),6 = I?)2

16C4E5),6 = (llo,lloo,0100,1110,0101)2

.11. (64E5)  = (?j8
16

m-dh 9. 164E5),6 = (110,0100,1110.0101)*

(110,010,011,100,10112 = (62345i8 (ml1419R  1)

=(64E51,6 (62345$

12. (6C4E51 = (?)16 8

5Iln& l0.(6C4E5J = !110,1100,0100,1110,010l)16 2

~~,101,1oo,o1o,o11,100,101)~  = (1542345)* (%h319~  1)

'. (6C4E5) (1542345j8=
16

13. (100010101001) = i?)2 IO

(1000,1010,1001) = (8A9)2 16

a$m?a?s$ 2 Hex.digit 8  IuestYnd 3  &ii  2 0 4 8

I, A " 2 " 160 +

I, 9 " 1 " .g

2217-

=. (100010:01001~ (22171,~2

14. 137456)* = I?) 2

(37456j8 = (11,111,100,101,1101 2 (1~~1519d 1)

15. (112234)  = (?I28

(1122341R = (1,001,010,010,011,100)2  (%&l1m9~  1)

3 6 6
OR 713



10110111
t

10010101

101001100

(10110111)*  + (10010101)2  = (101001100)2

2. (11010c~011)2 + (1111001)2  = ?

110100011
+

1111001

1000011100_--__-.-

'. (110100011)2  + (1111001) = (1000011100)2 2

3. (11111c)oo1)2 + (11101111) = ?2

111110001
+

11101111

1011100000

:, (111110001)2  + (11101111)2  = 11011100000~*

4. (56723'lj8  + (3572) = ?*

567231
+

3572

573023

. (567231)* + (3572j8  = (57302318

5. (761j8 + (365) = !8

761
t

365

1346

(76118 + (365) = (1346j88

OR 213 367



6. (643710)8  +  (4567j8  - (321567)8  =  ?

643710
+

4567

650477
-

321567-__

326710

(643710)8  + (456718 - (321567b8  =_  (3267101
8

7. (72EA),6  + (B46A) = ?
16

72EA
+

B46A

12754
-

.  ’ (72EA),6  +  IB46A)
15

= (1 2754),6

8. (A345C),6  - (ABC) = ?
15

A345C
-

A B C-__

A29AO
-

(A345C)  - ( A B C )
16 16 = (A29A0),6

9. (4096),6  + (812) - (8021 = !16 16

4096
+

812

4BA8

802

43A6

(4096)18 + -(B12),6  (802) =
15

143A6),6

368 O R  2 1 3



OR 213 3 6 9



10101-

.11110)2  +  (lll$  =  110101)2

2. (111001)2 + (loo1)2  + (111)  = ?
2

111001
+

1001

1000010
+

111

1001001

l111001)* + (lOOI)*  + l111)2 = ~1001001)2

3. (1101)2  - (Jo1o)2  = !

l’s complement lIEI9 1010 &I  0101

1101
+

0101

l"oo10

L-

(ihhla)

0010
+

1

0011-

(1101i2  - 11010)2  = (1112

t-hu1wnimerrm.m
1101

1010

3 7 0

11-

OR 213



4. !10101)2  - (101)  = ?
2

l’s complement liD9 0 0 1 0 1  ?iO 11010

10101
+

11010

,;01111 (Gl%l@l)

01111L +
1

10000

(la~lol,2  -(lol):z  = (10000)*

h%JhJnlmJimaJw

10101
-

101

10000

5. (10000) - (101)  = ?2

l’s complement lle39  00101 60 11010

10000
+

11010

Fo1010

L

(i62iawa)

01010
+

1

1011

10000
-

1 0 1

loI&



6. (111d01)2 x (111j2 - (100012  = ?

111001
x

111

111001
+

111001

111001

110001111

l'scomplementll09  000001000 &I 111110111

110001111
+

111110111

.
~110000110

I
(dK2iawn)

a

110000110

L

+
1

110000111

'. (111001)* x (111j2 - (1000) = (110000111)~
2

. . _

3 7 2
OR 213


